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Тест по дисциплине «Английский язык» для учителей средних школ.
Вариант 1

1.  “th” is pronounced differently in the word ______

A) though

B) thunder

C) thousand

D) theory

E) throat

2.  The word with the first type of the syllable is ______

A) surprise

B) sure

C) surf

D) surface

E) surround

3.  Find the synonym to the word «therapy»:

A) employment

B) management

C) development

D) treatment

E) department

4. Choose the phrasal verb meaning “to return to a place”:

A) to come along

B) to come back

C) to come across

D) to come off

E) to come in

5.  Fill in a suitable article:
People do their best to protect … nature.

A) A

B) Any

C) An

D) The

E) -

6.  Fill in a suitable preposition:
I am not very interested … sports.

A) For

B) In

C) About

D) On

E) At

7.  Find the word with a negative prefix:

A) empty

B) powerless

C) illegal

D) convenient

E) frozen

8.  Answer the question: 
How many seasons are there in a year?

A) five

B) six

C) three

D) two

E) four

9. Fill in a suitable pronoun:
... artist has a great talent.

A) them

B) these

C) those

D) they

E) This

10.  Choose a correct variant to fill in the gaps:
This … came to our place when other … had left.

A) Men/ Men

B) Men/ Man

C) Woman/ man

D) Man/ men

E) Women/ men

11.  Complete the sentence:
They have … paper than we have.

A) Few

B) The least

C) Less

D) Fewer

E) A little

12.  Fill in a suitable form of the verb:
Yesterday Nick … his eighteenth birthday.

A) Celebrated

B) Has celebrated

C) Celebrates

D) Was celebrating

E) Will celebrate

13.  Choose the right verb form:
I was met at the station by my aunt.

A) perfect participle

B) infinitive

C) gerund

D) perfect continuous

E) past indefinite passive

14.  Define the role of Gerund in the following sentence:
Reading is my favorite hobby.

A) subject

B) adverbial modifier

C) predicate

D) attribute

E) object

15.  The second conditional form:

A) past simple, future simple

B) past simple, would + infinitive

C) present perfect, would + infinitive

D) present simple, would + infinitive

E) present simple, future simple

16.  Complete the sentence: 
My father … … drive a car.

A) lets me to

B) lets me

C) let me

D) let me to

E) let to me

17.  
Complete the sentence:
Ann said she … us to her birthday party.

A) would have invite

B) will be inviting

C) will invited

D) would invite

E) will invite

18.  The correct forms of the verbs for the following sentence are____
Mom (cook) dinner as soon as she (come) home.

A) cooks / come

B) will cook / will come

C) would cook / comes

D) cooked / would come

E) will cook / comes

19.  Choose the correct question: 
You were talking to someone……..

A) Who to were you talking?

B) Who talked to you?

C) Who were you talking to?

D) Who was talking to you ?

E) Who were you to talking?

20.  Answer the question:
When was the Constitution of Kazakhstan adopted?

A) September 5, 1995

B) August 30, 1995

C) September 5, 2000

D) August 30, 1991

E) January 13, 1993

Вариант 2

1.  The word with the sound [f] is ______

A) through

B) laugh

C) bought

D) light

E) fight

2.  The word with the first type of the syllable is ______

A) them

B) think

C) theme

D) there

E) thirty

3.  
Complete the sentence:
We don’t see … very often these days.

A) everybody

B) each another

C) one other

D) each other

E) each of them

4.  Paraphrase “to go in for”

A) to hate

B) to want

C) to be keen on

D) to dislike

E) to be like

5.  Choose the correct answer:
She wants to be…….

A) an journalist

B) the journalist

C) journalists

D) journalist

E) a journalist

6.  
Fill in suitable prepositions:
My sister is interested … listening … classical music.

A) in / by

B) for / in

C) in / for

D) on / to

E) in / to

7.  Some verbs can be formed with the suffix _____

A) #ИМЯ?

B) #ИМЯ?

C) #ИМЯ?

D) #ИМЯ?

E) #ИМЯ?

8.  
 Choose the equivalent: 
 The population of Scotland is more than 5 million people.

A) Scotland has over fifth million people

B) Scotland has over five million people

C) Scotland has over a five million people

D) Scotland has over five millions people

E) Scotland has over the five million people

9. Choose a suitable pronoun:
They are not so young to travel by ____ own car.

A) theirs

B) they

C) ours

D) their

E) our

10.  Fill in the gap:
The ... acquisitions began in 1935-36.

A) Museumes’

B) Museums

C) Museum’s

D) Museum

E) Museu’s

11.  Complete the sentence: 
The more you practice speaking English, … you will do it.

A) More better

B) The better

C) The well

D) The good

E) The gooder

12.  Find the Present Perfect Tense sentence:

A) Ann’s left for Almaty

B) Ann’d left when we got there

C) Ann’s leaving

D) Ann’s a doctor

E) Ann left

13.  Present Perfect Passive form:

A) had been done

B) are told

C) will be told

D) were done

E) has been told

14.  Fill in a suitable verb 
Most days my daughter …..get up first and make breakfast.

A) would

B) will

C) should

D) has

E) used to

15.  Choose a conditional sentence:

A) Before I got this job, I used to go out a lot

B) You shouldn’t interrupt people

C) After reading a letter, he changed his mind

D) If I stay out late, I always get a taxi home

E) She insisted on paying the bell

16.  The sentence with Complex Object” is

A) Some people are walking along the street and I can see them

B) I am walking along the street with some people

C) I can see some people who are walking along the street

D) I can see some people walking along the street

E) I can see how some people are walking along the street

17.  Choose the right verb:
Tell me if there ……..anything wrong.

A) will

B) are

C) is

D) to be

E) be

18.  The tenses are used correctly in the sentence

A) Mr.Gray will call you as soon as he came back

B) Mr.Gray will call you as soon as he will come back

C) Mr.Gray calls you as soon as he will come back

D) Mr.Gray calls you report as soon as he comes back

E) Mr.Gray will call you as soon as he comes back

19.  Complete the sentence:
Henry speaks Italian, … ?

A) doesn’t he

B) does he

C) don’t he

D) didn’t he

E) did he

20.  Answer the question:
What chambers does Kazakhstan Parliament consist of?

A) The Senate and the Mazhilis

B) The House of Lords and the House of Representatives

C) The House of Lords and the Mazhilis

D) The Senate and the House of Representatives

E) The House of Lords and the House of Commons

Вариант 3

1.  “c” is pronounced differently in the word _______

A) capital

B) cube

C) cream

D) ceiling

E) cloth

2.  The word with the third type of the syllable is ______

A) mule

B) murmer

C) cure

D) cut

E) flute

3.  Complete the proverb : 
Tastes ...

A) … easy

B) … hard

C) … difficult

D) … different

E) … differ

4.  Paraphrase “to look in”

A) to watch

B) to work

C) to visit

D) to go

E) to put

5.  
Choose a fixed expression with a definite article:

A) At … time.

B) On … other hand.

C) As … result of.

D) At … speed of.

E) On … large scale.

6.  Choose a suitable preposition:

A) in

B) for

C) with

D) at

E) by

7.  
Make up a compound word:
 co -

A) former

B) together

C) operation

D) campaign

E) crowd

8.  The correct reading of 235 is:

A) Two hundreds thirty five

B) Two hundred and thirty five

C) Two hundreds and thirty five

D) Two hundred of thirty five

E) Two hundreds of thirty five

9.  Complete the sentence:
… hair is as dark as …

A) Mine/ her

B) Mine/ hers

C) My/ hers

D) My/ mine

E) My/ her

10.  Choose an uncountable noun:

A) Water

B) Ruler

C) Plate

D) Tree

E) Dress

11.  
Choose the correct order of adjectives:
It is a(an) … day.

A) autumn, cold, stormy

B) autumn, cold, storm

C) coldy, stormy, autumn

D) cold, stormy, autumn

E) stormy, autumn, cold

12.  Choose the Future Indefinite Active form of the verb:

A) Shall working

B) Has worked

C) Is working

D) Will work

E) Will works

13.  Choose the form of the passive voice:

A) to have done

B) doing

C) to do

D) having done

E) to be done

14.  Choose the sentence with Participle II:

A) The torn letter was lying on the floor

B) George hurt his knee playing football

C) I heard her open the door

D) It was raining all day long

E) She watered the flowers and left the room

15.  
Complete the conditional sentence:
If you … with her, she … so many problems.

A) has gone / wouldn’t have had

B) had gone / would have had

C) have gone / wouldn’t have had

D) had go / wouldn’t have had

E) had gone / wouldn’t have had

16.  Choose a suitable participle: 
I heard the problem … .

A) to discuss

B) discussing

C) discussed

D) being discussed

E) to be discussed

17.  
Report the sentence:
He explained” “Helen left yesterday”.

A) He said that Helen had left the day before.

B) He said that Helen has left the day before.

C) He said that Helen had leave the day before.

D) He said that Helen left the day before.

E) He said that Helen had left yesterday.

18.  The tenses are used correctly in the sentence

A) My brother wanted to know why I will buy a new car

B) My brother wants to know why I had decided to buy a new car

C) My brother wanted to know why I have decided to buy a new car

D) My brother wants to know why I would buy a new car

E) My brother wanted to know why I had decided to buy a new car

19.  
Complete the sentence:
Let’s go out tonight, … ?

A) shall we

B) do we

C) will we

D) are we

E) don’t we

20.  Fill in the gap with a suitable word:
 ____ is an official residence of the Queen and the largest castle

A) Windsor 
B) Balmor Castle 
C) The Tower of London 
D) Duke Castle 
E) Buckingham 

Вариант 4

1.  “h” is not pronounced in the word _______

A) helping

B) happy

C) humorous

D) humid

E) honest

2.  The word with the fourth type of the syllable is ______

A) heritage

B) hereby

C) hen

D) heron

E) herb

3.  Give the equivalent: “having a pleasant flavour”

A) tasteful

B) junk

C) tasteless

D) bad

E) good

4.  The phrasal verb “to go on” means

A) to finish

B) to continue

C) to be keen on

D) to come

E) to run

5.  Find the word meaning “be able to provide”

A) afraid

B) afford

C) serve

D) clean

E) share

6.  Fill in the gap with a suitable preposition:
 I always rely … my friend. 
Pupils should learn the poem …heart.
A) At

B) On

C) In

D) With

E) For

7.  Complete the sentence:
You are so …; you are always dropping things.

A) Tidy

B) Helpless

C) Forgetful

D) Useless

E) Careless

8. Read the number:
"255"

A) five thousand and hundred

B) two hundreds fifty-five

C) two hundreds and fifty-fifth

D) two hundred and fifty-five

E) two hundreds fifty-fifth

9.   Fill in the gap:
 ______ unexpected things happened

A) any

B) some

C) something

D) everything

E) anything

10. Choose the correct form of the possessive case:

A) important role’s Sovereign 
B) important of role Sovereign

C) important role of Sovereign

D) important role of Sovereign’s

E) important role Sovereign’s

11.  Find an adjective:

A) Think

B) Party

C) Busy

D) Library

E) Return

12.  Complete the sentence. 
The train ... arrive at 11.30 but it was an hour late.

A) is supposed to

B) was supposed to

C) is being supposed to

D) has been supposed to

E) supposed to

13.  
Complete the sentence using the Passive Voice:
My new vase … .

A) was broke

B) has been broken

C) is broken

D) was breaked

E) had been breaked

14.  The underlined word is used as
She appeared delighted with the present

A) a noun

B) an adjective

C) a verb

D) an adverb

E) a gerund

15.  Choose the right verb form:
If he………a year older, he could join the army.

A) had been

B) was

C) has been

D) is

E) will be

16.  Complete the sentence:
My parents always want … the washing up.

A) that I did

B) me to do

C) doing me

D) for me to do

E) me do

17.  In indirect speech “can” changes:

A) could

B) would

C) will be able to

D) can

E) is able to

18.  The correct forms of the verbs for the following sentence are ____
Sally (buy) nice flowers so that she (present) them to her colleague.

A) bought / would present

B) would buy / presented

C) bought / will present

D) will buy / presented

E) bought / had presented

19.  Choose a question tag:
He has got enough money at the moment,…..?

A) has got

B) got he

C) has it

D) hasn’t he

E) he

20.  Complete the sentence: 
The first colonists in America started the tradition of … .

A) Hallowe’en

B) Independence Day

C) Thanksgiving Day

D) Memorial Day

E) St. Patrick’s Day

Вариант 5

1.  “p” is not pronounced in the word ______

A) protein

B) psychic

C) place

D) potter

E) percent

2.  The word with the first type of the syllable is ______

A) rustle

B) rift

C) rare

D) round

E) rye

3.  Replace the underlined word with a suitable synonym:
My sister was very sad when her boyfriend finished with her.

A) upset

B) broken-hearted

C) not in her plate

D) unhappy

E) feeling furious

4.  Fill in a suitable phrasal verb:
Prices … very quickly.

A) get on

B) go up

C) get up

D) go on

E) go away

5.  Choose the right article:
…..fear is a perfectly natural human feeling.

A) –

B) this

C) the

D) a

E) an

6.  
Fill in a suitable preposition:
I always keep a dictionary … hand in case I come across some new words.

A) to

B) in

C) near

D) on

E) by

7.  Find the word with the opposite meaning
 “known ”

A) reknown

B) irknown

C) inknown

D) imknown

E) unknown

8.  Read the number “790”:
A) Seven hundred of ninety

B) Seven hundred and ninety

C) Seven hundreds ninety

D) Seven hundreds of ninety

E) Seven hundreds and ninety

9. Fill in a suitable pronoun:
Write about the results of _____ training.

A) ours

B) them

C) our

D) me

E) you

10.  Choose the singular noun in the possessive case:

A) daughters’ trainers

B) doctor’s visit

C) uncles’s bank

D) teacheres’ pen

E) countrymen life

11.  
 Complete the sentence:
 Walking is a _____ physical activity than running.

A) most popular

B) popularest

C) more popular

D) the most popular

E) popular

12.  Find the verb in Present Continuous:
It is … now.

A) Raining

B) Rains

C) Rain

D) Is rained

E) Rained

13.  Choose the sentence in the passive form.

A) We spoke English

B) Do you speak English

C) You can speak English here

D) English is spoken here

E) We speak English here

14.  Fill in a suitable form of the verb:
He promised …all night.

A) Work

B) Working

C) Has work

D) To have worked

E) To work

15.  Complete the sentence:
As soon as they ….me, I……..you.

A) phone, ‘ll contact

B) ‘ll phone, contact

C) phoned, contact

D) phone, contact

E) phoned, contacted

16.   Choose the correct variant of a sentence with Complex Object:

A) My parents to want you to be honest.

B) My parents want to be honest.

C) My parents want me to be honest. 
D) My parents to want to be honest.

E) My parents want to you to be honest. 
17.  Complete the sentence:
He asked if he … me with my English.

A) will help

B) would helped

C) would help

D) will helped

E) should helped

18.  The correct forms of the verbs for the following sentence are ____
Sam (go) to Spain as soon as he (pass) his exam.

A) had gone / passed

B) will go / passes

C) went / had passed

D) will go / passed

E) went / passed

19.  Choose the right variant:
……..want to do this weekend.

A) what do you

B) what you do

C) what you

D) what do you to

E) what you do to

20.  Complete the sentence: 
The capital of Wales is ____

A) Cardiff

B) Dublin

C) London

D) Glasgo

E) Edinburgh
Вариант 6

1.  The word with the sound [f] is ______

A) through

B) laugh

C) bought

D) light

E) fight

2.  The word with the first type of the syllable is ______

A) them

B) think

C) theme

D) there

E) thirty

3.  Complete the sentence:
We don’t see … very often these days.

A) everybody

B) each another

C) one other

D) each other

E) each of them

4.  Paraphrase “to go in for”

A) to hate

B) to want

C) to be keen on

D) to dislike

E) to be like

5.  Choose the correct answer:
She wants to be…….

A) an journalist

B) the journalist

C) journalists

D) journalist

E) a journalist

6.  Fill in suitable prepositions:
My sister is interested … listening … classical music.

A) in / by

B) for / in

C) in / for

D) on / to

E) in / to

7.  Some verbs can be formed with the suffix _____

A) -ous

B) -en

C) -er

D) -ent

E) –ly
8.   Choose the equivalent: 
 The population of Scotland is more than 5 million people.

A) Scotland has over fifth million people

B) Scotland has over five million people

C) Scotland has over a five million people

D) Scotland has over five millions people

E) Scotland has over the five million people

9. Choose a suitable pronoun:
They are not so young to travel by ____ own car.

A) theirs

B) they

C) ours

D) their

E) our

10.  Fill in the gap:
The ... acquisitions began in 1935-36.

A) Museumes’

B) Museums

C) Museum’s

D) Museum

E) Museu’s

11.  Complete the sentence: 
The more you practice speaking English, … you will do it.

A) More better

B) The better

C) The well

D) The good

E) The gooder

12.  Find the Present Perfect Tense sentence:

A) Ann’s left for Almaty

B) Ann’d left when we got there

C) Ann’s leaving

D) Ann’s a doctor

E) Ann left

13.  Present Perfect Passive form:

A) had been done

B) are told

C) will be told

D) were done

E) has been told

14.  Fill in a suitable verb 
Most days my daughter …..get up first and make breakfast.

A) would

B) will

C) should

D) has

E) used to

15.  Choose a conditional sentence:

A) Before I got this job, I used to go out a lot

B) You shouldn’t interrupt people

C) After reading a letter, he changed his mind

D) If I stay out late, I always get a taxi home

E) She insisted on paying the bell

16.  The sentence with Complex Object” is

A) Some people are walking along the street and I can see them

B) I am walking along the street with some people

C) I can see some people who are walking along the street

D) I can see some people walking along the street

E) I can see how some people are walking along the street

17.  Choose the right verb:
Tell me if there ……..anything wrong.

A) will

B) are

C) is

D) to be

E) be

18.  The tenses are used correctly in the sentence

A) Mr.Gray will call you as soon as he came back

B) Mr.Gray will call you as soon as he will come back

C) Mr.Gray calls you as soon as he will come back

D) Mr.Gray calls you report as soon as he comes back

E) Mr.Gray will call you as soon as he comes back

19.  Complete the sentence:
Henry speaks Italian, … ?

A) doesn’t he

B) does he

C) don’t he

D) didn’t he

E) did he

20.  Answer the question:
What chambers does Kazakhstan Parliament consist of?

A) The Senate and the Mazhilis

B) The House of Lords and the House of Representatives

C) The House of Lords and the Mazhilis

D) The Senate and the House of Representatives

E) The House of Lords and the House of Commons
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